10 9 8 7 6 5 4 3 2 1
46.2 +0.4
PIN 4
(14.4) (17.6) (15.5)
o - PIN 1
U 4|
- |
3 e T 4 i+ PIN 2
b _ 3
LU L | —PIN3
5
BRAD LOGO, BLACK — 4
OVERMOULD ON BOTH SIDES
VIEW FROM THE FRONT SIDE VIEW FROM THE FRONT SIDE
3 SIDE MARKING
BOTH-SIDES SIZE 2mm
CONNECTOR SPECIFICATION :
VOLTAGE RATING : 250V AC/ 300V DC
AMPERAGE RATING : MAX. 4 AMPS
PROTECTION : IP67 BILL OF MATERIAL
PRINTING SCHEMATIC OPERATING TEMPERATURE : -25°C TO +90°C 8 2 | INSERT M12 4P FEMALE PUR BLACK
NOT TO SCALE 7 1 | INSERT M12 4P MALE PUR BLACK
6 2 | GASKET 7.1X1.35 FPM RED
Part Number: 1200680294 5 1 COUPLING NUT M12 MALE BRASS NICKEL
4 2 | COUPLING NUT M12 FEMALE | BRASS NICKEL
WIRING DIAGRAM 3 - OVERMOULD PUR BLACK
SELECTIVE
Old Material Number: 0812-04EMF-00000 ; . -1 2 8 |CONTACTS M12 FEMALE BRASS GOLD
- 20— 2 FEMALE SELECTIVE
Description: ~ SPL YS M12 4P AC MA FE FE MALE . |—fC; ; oA 1 4 | CONTACTS M12 MALE COPPER GOLD
Quantity: 1 4= 4 ITEM | QTY. | DESCRIPTION MATERIAL | FINISH/COLOR
SYM?OLS 'DI':,IEN[;II?()A:VJzﬁSONTS;T:IZILSEINFOEI\S;'I;I';)E;T;IECRSEZEFA;YEE)RMAO\I/_VE; E"I:IE;)\IT)I:ONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
L WHERE: 1 W: ’ GEEEF:II‘.TOLERi;ClS mOIex
YYYY-YEAR, MM-MONTH, DD-DAY 2 FEMALE g 0 (UNLESS SPECIFIED)
"B" = OlancuarToL ¢ 10- |ECNO: 608988
i B @: 0 |2 pLaces DRWN: SSM 2018/12/11 SPLYS M12 4P AC MA
~ 3 PLAGES CHK'D: DSTACHOWIAK 2018/12/12
Date: YYYY/MM/DD %' Z e o ﬁ\ﬁ?&L ES\T/IASCIISSWMK 2018/12/12 PRODUCT CUSTOMER DRAWING
Country: Poland j T PLACE N 03 DRWN SSM : 2018/1 1/27 DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
E ; Z 0 PLACES t 05 [APPR: RSILLER 2018/11/29 1200680294 PSD| 000 A1
DOCUMENT STATUS| P1 | RELEASE DATE | 2018/12/12  09:18:58 | T 0| i oreneons @ 1 |A3-SIZE| 120068 | 1200680294 | GENERAL MARKET | 1 OF 1
o9 9 8 7 6 5 4 3 2 1




